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@’ Rationalising surds (2)

a2 Getting ready for A-Level Maths...

"The most important investment
you can make is in yourself.”



Rationalising surds (2)

Difference of two squares

(a+b)a-b)=a -b°
(2 +V5)(2 - \5)
(6 - 42)(6 + 472)
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Rationalising surds (2)

My turn

Rationalise the following giving your
answer in the form a + bV3. State a

and b. 4

1++/3

Your turn

Rationalise the following giving your
answer in the form a + h\7. State a

and b. 18

147
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Rationalising surds (2)

My turn

Rationalise the following giving your
answer in the form a + bV2. State a

and b.

2

3—/2

Your turn

Rationalise the following giving your
answer in the form a + b\5. State a

and b. 2

4—5
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Rationalising surds (2)

My turn

Rationalise the following giving your
answer in the form a + bV5 . State a

and b. 12

~1++/5

Your turn

Rationalise the following giving your
answer in the form a+ bV11 . State a

and b. 20

~3+/11
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Rationalising surds (2)

My turn
A rectangle has an area (2 + V2)cm?
and a width of (3V2-4) cm. Find the

length and state your answer in the
form a + bN2 where a and b are integers.

Your turn

A rectangle has an area (15 - 6v3)cm?
and a width of (2V3-3) cm. Find the
length and state your answer in the
form a + b\3 where a and b are integers.
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Rationalising surds (2)

Review Exercise

. Rationalise the following giving your answer in the form a + bV5.
Stateaand b. 24
1+v5

. Rationalise the following giving your answer in the form a + V6.
State a and b. 2

5—

>

. Rationalise the following giving your answer in the form a + b\7.
State a and b. 18

247

. A rectangle has an area (10 + 4v3) cm®and a width of (3V3 - 5) cm.
Find the length and state your answer in the form a + V3 where
a and b are integers.
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Rationalising surds (2)

Review Exercise (Answers)

. Rationalise the following giving your answer in the form a + bV5.

State a and b. 24 -6+6V5

1+V5 a=-6, b=6
. Rationalise the following giving your answer in the form a + V6.

State a and b. 2 10 2
—_— N _
5—V6 19 19 VO

10 2
a= -, = —
19 19
. Rationalise the following giving your answer in the form a + b\7.

State a and b. 18 12+6V7

-2+V7 a=12, b=6

. A rectangle has an area (10 + 4v3) cm®and a width of (3V3 - 5) cm.
Find the length and state your answer in the form a + V3 where
a and b are integers. 43+25v3
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